A4 (2022) FEBE

FRTETER(H) [A1H]

[
®

&

SIS (20234F)

4 A 5H 7 H 8 A 9 A 10H 11 H s A i) 124 14 2 A 3 H
) PR 209 1) AR -2 PACT (A s g
14 1 {7k & 114 ﬁi‘g‘ﬁfgﬁ 1A 1A DRI (1) 1 | £ |fewmmamsstman | 1 | K |#ki(0:00~15:30) 1R ll‘ﬁﬁ(‘ﬂﬂi%?ﬁ& 1 SEH 1|7 ﬁ;ég;in(ﬁ) 1k aﬁfz%’)ﬁfiﬁt
2 IR wa L
e T - BT 5% AT
2 || 4E 2 | | [roreorem 2 | K [wrme e 2 | = [ 3 2|k 2 | 4 |RnGaRsn 2| @ 2 | | ariarr ] 2 /jé’l 218 2 | A 2 | A [2msmsse, cpmei
i 5
3 3 | ok |wsms 3 |4 |uegemer am) 3 3 | Ak |etv—rmmen | 3 | A | e st 3| A o maici | 3 NELE 3 |+ [esrrem 3|k 3 | 4 [FHEIRARES (R | g | A |58
El b SE el ol GES- LW El JK [&Eii~ i3 e RHE T m()\:‘p%‘,\':vig D*)‘ =] L 4 3) - (At ]
4R 4 | 7k [#evon 4 |+ |epmmpannss | 4 | B 4 | K |es~—rmmem |4 B 4|k %25&%?? 4 |4 TR 4 | A |esre @ 4 | 7K [merasss 4|+ 4 [+
5 | e |eenimsers T 5 | K|zevon 5(H 5 |k |ass 5|4 5(H 517K 5 | £ [emresmna 2 | 5 | H [seremmwecs | 5 (K Q;ﬁ;zx . 5(H 5(H
i P L[ Zas it H |wwse K + |remmia o) ke K RO (5 o s £ st =l (3h~) H |
6 |7 RS BT 6 ia%g)( 7 (34 0 FRIGAED o |/ 0 F& = (h: 0 6 v 3 E| FO (= (3 B O | 45 PRt e i 3 (3 g F e
HEEER B (PET
7 | R|peamamw | 7 | £ |ewe—smmen | 7|k 7R 71H 77k 714 714 7 (K T | A st i vesetses 7 LK | temmmtigase | 7 | K |vewnesen
)
BN A 7— b s RERyEEEEOR e S
8 (ﬁg-a;x%ﬁﬁﬁm 8| | 8 7K premsmmimmen | 8 |4 [GT R 8| H 8 [ & 8|+ La)ﬁﬁ:@m%/i-%@ CH DN il A PN 8| | 8 [k remimeit] | 8 |k [ s
9|+ 9|H BB 9 | 4 [esrmapma~am | 9 |k 9|4 9 | H |eracw 9 |k |aEsme I 9 |4 [prasimszase | 9 | B [kion 9 |k 9 | A |t e
10| H 10|k 10|14 10| [ 10| 7K |eerarm 10| = |xroemao~—r@m 10| A |»#—von 10[ A 10| + 10| Jk |orien ey 1014 . 10| 4 |ess
# (1~34) i JREREFIE (6h) /\ epmramne ‘ERADOH
11| A mcvci=a |11 | K oo renace | 111 4 |0 11| A 11| A |uor 11| A 11|k [ 114 L1 BT 2o |11k [msmsenraaee |11 4 s |11+
12K |EsE > | 12| K weme ees |12| B 12|k 12| & |temrrn 12| A 12|k 12|+ 12| A 12|K 12| B |m=—=#t@ 12| A
AR E A (34F) T
13| 7K |izis 13[4 13| A 13|k 13|+ 13|k 13| 13| B [pmnzon 13|k 13|14 L3| A [ it |13\ ] itz
14| A | b | 14| 4 prases 14|k 14| A 14| A 14| /K |Girmtisims 14| 4 |rvomenss e | 14| A 14| 7K | § s 14|+ [eEr=ranm 14| ok [ssam 14| k&
YRRIBA (h2-3)
15|14 15/ A 15| A [ 7 @0 15| 4 s 15| A |emrmn 15| A 15| 4 |rsnze 15|k 15| A [hE Fxnio® 15| A [xararenn 15| 7K |z 15|17k
16| + 16| A |tk 6/1a59) 16| K 16| I | w34 16|k 16| 4 fﬁ%%mmmﬁ@fﬂé 16| A 16| /K [rracuacn  |16]|4 16| A |pemrrmemis 16| A 16| A&
PTAFF R 2@
17| H 17{:k 17|44 e DU P 17|k |ewesmma-am | 17] 4 17| H 17| AR 17| L& IMPRESTE 17| 4 17|45 |mensesest
S5 &7
18| A [mamsasan |18 7| | FIEEMSE 19| 4. | e 18] A [won 18| A |sammmen  [18] A 18]k 18| 4 |t 18| A 18] 18|+ |zeemia 18|+
R (55 ~21H) ) ) — - JR— 7
19|k Zﬁﬁf;;@fﬁwﬁ 19| A 19| B |maem s 19| 'k |maxmine 19| 4 |esticibmin (34) 19| A |seon 19| K | s, ~2m) |19 - [emaeisi ) 19| A i sn 23nze | 19K 19| B [pero w0 19| H
PRTEAEPS R RIRE AL 3
20| 7k |ietes 6n) 2014w 20| B |asasmsmmne 20|k |mesmne 20|+ 20/ k 20| A KeonheumEr |20 A 20| k [rasune 20 (4 [Ghmnitrs 120 | A 20| A |ewenmm
21| A 21 | I | mserz a4 21|k 21| K |massmine 21| B 217K 2114 21| H |#&za20 21 | K |rssmae 21 | -+ [ewrempme 2 |21 |k 21|k |#pon
W% 2% (6h) e NG I
22| 22| H 22| 7K R amane 22| % sz mvo 22|H 22| K 22|+ (o ophge/ |22 PN 22| R |mitw i 22| B pesrocw 22|17k 22| /K [T
23 [t [4ELERD 23| A [Einmea s o |23 AR (e x) 23| + [z=memme~ssy 23]k 23| & | e 23| B 23|k [Prisson 23 (4 [ e 23| A [mavwsmmmzrs 23 | A< | m 23| A | ik (~a/5)
24| H 24| K |ifin v 24|42 24| H 24|k 24|+ 24| A 24| A 24|t |emmermisc~s 24|k 24| 4 24|48 o e
251 25| 7K |t mma e | 25| 2 | EEEEGD 25| A 25| K 25(H 25|k 25| |Ganim 25| A prsraervem [25]7K 25|+ 25|+
26|k [amrmmamnee | 26| A [rp@-nie  |26| B |EmEo 26|k 26| 4 26| H |msmasns 26| 7K [ 26|+ 26| A [ 20y 26| K| | 2exxzee  |26| H 26| H
27| 7k PN B Nl PYADE N oS N DA PN 27| £ [wrmee 27|k 27| AR 27| H 27 | K [etkaram 21|14 27| A | 27| A
AISZER& A (112[8) R S - ) ) o MR E@T—
28| A 7o A 28|t |wmre—smatee |28] K Epf,fzaﬁfﬁﬁ 28| A [HEIENRMEE o8| | (wm tsman | 28 | K | 284 [k i 128 H 28 | 7k [ 28| + |azwze 28| 'k 28|k
294 wmon 29| A |rmweocw 29|k 29| 4 |eemmacrs (29| A 29| A | 29| [k =8O a9l k ﬁi‘g‘ﬁﬁiﬁ 29| A 29| | 29| 7 [Prasrnze
30| = | e a4) 30(H 30| K|w 30| 1= 30|k 30| 4 kit 30| H 30| 7k - 30| 4= 30| H i 30(A
31|k 31| H 31| K Wb s 31| A 31|+ 31|k l%i‘?f;’;“?%@ 31|14




